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1) Fill in the blank with appropriate use of tense: | couldn’t mend the
computer myself, so | at a shop.

v 1) had it mended
2) had it mend
3) did it mend
4) had mended

TN : s 0 o1 -mended Tae M FRIER IR X7 had it mended

2) “Mac Flecknoe” was written by-

1) John Milton

v 2) John Dryden
3) William Congreve
4) John Bunyan

A : “Mac Flecknoe” was written by John Dryden.

Some famous works:

The Wild Gallant, a Comedy (1663/1669)

The Rival Ladies, a Tragi-Comedy (1663/1664)

The Indian Queen, a Tragedy (1664/1665)

The Indian Emperor, or the Conquest of Mexico by the Spaniards (1665)
Astraea Redux, 1660

Annus Mirabilis (poem), 1667

An Essay of Dramatick Poesie, 1668

Absalom and Achitophel, 1681
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AN = 338 SRANKER SRbel= 1, 3T, S x 51, 5, S
=> 51, 51, S=5RAISAR ST/, T, S

=>51, 3T, B=50qY/bY
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9) Industry is the key - success.

4T : Key to (a lock/success)-b1, b1iRIIS/C Som

10) V( 1+(144/25) ) = 1+(n/5) T, n 4 T4 307
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V(1+144/25) = 1+(n/5)
Or, V(169/25) -1 = n/5
Or, 13/5-1 =n/5

Or, 8/5=n/5

So,n=28



11) An umbrella marked at TK.80 is sold for Tk.68 . The rate of discount

IIT -

bo BT FESPIG T ORI (b0 - Wbr) T 53 TP
> TPl fGSRPISG /T H3/r0 TR
500 TIAT FESITGT O (53/b0)x 500 = 5¢ BT

12) b= @1d s D1ed a9?
1) R ={(2,3),(3,4)}
2)R={(3,5),(6,7)}
3) R={(3,5),(6,7),(4,9)}
v 4)R ={(3,5),(6,7), (3, 2)}

AT : QACER = {(3, 5), (6, 7), (3, 2)} 93 WA (GICEE I3 HLAT AT AL,
B3 32 PIL¥TF 7] IR T |
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2o TIPS B[ I |

14) Which would you choose to list Synonyms & Antonyms of a selected
word?

1) Tools, Spelling & Grammar
v 2) Tools, Language

3) Tools, Options

4) Insert, Cross-reference



A - The correct answer is : Tools, Language
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16) The teacher said, ‘The earth moves round the sun.' Make it indirect
speech.

1) The teacher said that the earth moved round the sun.

v 2) The teacher said that the earth moves round the sun.
3) The teacher said that the earth has moved round the sun.
4) The teacher said that the earth had moved round the sun.

I : Reporting verb T Past tense « 13 Direct Narration 43 Reported
speech b 384 593 (Universal Truth), @&l 5797 (Scientific Truth), Weisiso I8

(Habitual fact) <7 Indirect Narration 1 Reported Speech Q< Tense 1< (14
HARGd 27 1|
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Int’l year for people of African Descent
International Year of Cooperatives
International Year of Sustainable Energy for All 053
International Year of Water Cooperation- 2059
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© TEHY 300 HE @R *RFR TS FEA |

© IAEA 00¢ S RCIR 2[R SERSR @14 A Q3R *MBRo#{f IR IATTT5T ST
AT TIPS A (@I NG PR |

© TUNGHRCTR AIOT (motto AFOIRPY) 2 b1 (oraR #{f31 (it is your world)

© TUNGHRAR TRIRA AT 7151 JTARCNS AR R
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18) IR oAl PACGATT FIYA I PO HACET?

1) 55 TBFT, Ypn0
2) 0x WISTT, dYabtr
3) 53 TISFG, Yo

v 4) X WI5FT, Y0

I 2 PAGPIAN FO IBIRCAK T dobrd HH FH ABRP AP RO 2 |

19) 70 WK TAFATG O - 8 UL VI .. B, Sbro X, FAN 710 I 3P ?

v 1)

2) 8, @Y
3) VB, &R
4) VY, 8br

8¢, Yo

AT+ ST G, T S=DGATTTIL BTPET x STHIS
TB=180/12=15

710 SRUAF GO 3 -4

9P A W=3x15 =45

WO H UMD =4x15=60

20) PTG BT IENTH ARG HKY QI T T 2 PI?

AT 2 QI RATETRFIR (T, SAUR-Db5D) SRFS G0, TR, @1 | G-I 361
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21) What is the adjective of ‘purify’?
1) Purity
2) pureful
v 3) pure
4) purifying

14N : Purify - ko= 3411 (Verb) Pure - | (Adjective) Purity - R@@w11 (Noun)
Purifying - k&= 311 (Noun)
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AT : ISR 370! FTO3 T O/ IS GE FIRAP S MDA 6 R0T- FFAM

23) 1.5, .05 \3 005 -7 52 FG?

1) 0.055)
v 2) 5505

3) 55.550)

4) 5.5055)

AT 2 5.0 +.0d +.0033=3.33d>

24)
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AT 2 ARFACCR TG IC AR FRATE TAT K PRATAT | TIAT K PRATATD ST (AR
SRYRNOK (ATSTAMT 28 It OIKTPI JTaP SICH ORIFO |

M : I TR AP0 \3 AOR-a+ T |

26) ‘Google' < 2po dTd F1?

v 1) BackRub
2) TOAK
3) G5
4) Lo

YT 2 BT APO d1d- BackRub. BackRub was an early search engine from the
1990s which is now regarded as the predecessor of the Google search
engine. It was personally developed and operated by Google founder Larry
Page and Sergey Brin.

27) J1eeTiee Bifset ISR (BCS) PINGTR SR AT FO10 2

1) 277
2) 287
v 3) 26
4) 3070

T« AR BiRGeT ISR (BCS) FIGR S12471- 260 | 3P PICR \3 2XI157d PIGIR
QPO 2GR FUIH DO 54T 2610 2 |

28) ROM FSf&<F consieas ard 12

1) Malware
v 2) firmware

3) VIRUS
4) lip-lop

AT : ROM i consd firmware.



29) ST (WWW) I3 TP &2

1T : World Wide Web ( WWW) @ 5GP 3 791 - | WWW LT 4 NRIEREICE
CTC°R STRST 1T Web Page @3 web Page #ifiid I Web Browing I 1 dab» S

PO CERN 3 J5=1 fRrserat fom arest [ aft Sera 3|
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SR PSR PICZ 3 P IR ZIP6 [ aieas «1ikifow 1afb anaer

RS TR 714, 2Ef0 |

32) The heroine of Hamlet-

1) Gurtrude
2) Julia
v 3) Ophelia
4) Desdemona

14 : Ophelia is a character in William Shakespeare's drama Hamlet. She is a
young noblewoman of Denmark, the daughter of Polonius, sister of Laertes,
and potential wife of Prince Hamlet.



33) Bakkar told Alamin, "Yesterday | defeated the only brother of the
daughter of my grandmother.' Whom did Rahul defeat?

1) Son
v 2) Father
3) Brother
4) Father-in-law

Iy : Daughter of grandmother -- Aunt; Aunt's only brother -- Father.
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35) “The Good Earth’’ deals with---

1) Irish life

2) Bengali life

3) English life
v 4) Chinese life

I : The novel, which dramatizes family life in a Chinese village before
World War I, has been a steady favorite ever since.

36) X2 +2xy-2yz-z2 Q3 G Reag 572

1
v 2
3
4

) (X+y+2z)(x-3)

) (X-2)(X+2y+2)

) (X+2)(x-2y+2)

) (x-3)(x-2y-2)
AT 2 X2 +2xy-2yz-72
=x2-72242y(x-2)
=(x-2) (Xx+2z) +2y(x-2)



=(X-2) (x+2y+2)
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40) Simplicity: Countryside: Complexity: --- ?

1) Hick

2) Country field

3) Complexion

v 4) Urban

I : Bk Countryside (sTd1%67)-Q Simplicity (3ieT0T) AR |
Urban (*R1%es)-9 Complexity (Sibetor) AP |



41) JILETCOT SHAYE @1 JZeN (66 87 Preow 71 242

AT : MR SRS TS @518 (656 07 e 9129

42) AFTE Q5T 2T \3 IRFHP SO GNP SIS (TG 2

1) TRPIeTO!
v 2)tafodal

3) wHol

4) STl

AT 1 AP I5T 2PTT5RP \3 TRFIAPA (TP BRI FHT Y BT 202 CaRodol | TaRoPol
(Ethics ) Q30 JTRF LR, M FGIK ISP WHICR PN T O3 \3 fawg 3R | TR
RIRIPAETol, T5F0l, SKETol, PROTRRTOT, TR AR (dRodol (AP3 BTV |

43) fXE3 @1 BT IFEAROOR TS I ?

1) Processor — Input - Output
2) Output -» CPU - Input
v 3) Input - Processor - Output
4) Input - Output - CPU

AT : FRNOTR TS IR Input = Processor —» Output 7 Input -
CPU - Output af@am

44) MPEG extension refers to:

1) System file
2) Ms office
v 3) Video file
4) Image file
5) Animation file

4 : RS g Video File Extention: .3gp .avi . mp4 .mov .wmv



45) 93T @eta 8ft [Afed <At @RS B omid 3@ | 37 Roa 47t @RS facy @
@A PO IPCH T5TPG AT ISR SRR PACO AT ?

1) 42
2) 48
v 3) 56
4) 64

AT : 870 A 37T foq «Rtaw @TaG faey ST 1A 8Cs = (9x8x7)/3%x2 = 56.

46) Shakespeare's plays are categorized in 3 genres-

v 1) Comedy, Tragedy, History
2) Romance, Horror, Drama
3) Comedy, Romance, Drama

4) Tragedy, Romance, Action

A - Shakespeare's plays are traditionally divided into the three categories
of the First Folio: comedies, histories, and tragedies.

47) TARR SIS (T GO (A3 fareia?
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4) IRPP QMG
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FIHABRZ, STATISIE \3 ([(ACPTAR | BT (ST IoRISTRPIT B 2SS 20T <13 (1w ) , ST,

AP, 914, I, QIERS, I, FIRT 3 T TSR ZTONS TRIHARIRZ (SR STET, T80 \3 BT
TGO ISR AL, | ITSRLA \3 (@BT5 BAGG A1 I CROR (ST |

54) STSASR X% P APR?

1) ¢ AIR
2) 8 U
3) O YPR
v 4)R AR
TR : 51O QNI T X AR |
S/ ¥R (ST, a1, 1, o 3opi |
/G <= . AATPP, 2P, 538, GIR 3onf |
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56) fATfTRG AMGICA T @19 T TR G St RRGTT 204Td foea?
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4) I 25 I

AT 2 AT SR (ST TIFATR R0, S50 FOJ TG 54, 053 ) e 1PTd TSRO
TGO, R ARODTON \3 AT | O 2T T8 AT @R IR | fofd 59 Srorrorie
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BT YWY SCE o T TBN 512515 KR 5199 PR | oo T I3 $sf BHgm arendiod
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IO UK P1e Irogafos oer e , R or afsrgaRiow Reca orPR 1Ees S
IR PR | QDD THPIA OIS AT (5102, (T IR Q2 T FATK QAR SHn--d»n0 [@ER
AT SRl RRGTAR SHICRE GoATaaci Rt JR5T0T F00 ©7a IREET| 1992-93
SR AR 27, T 078 OR 7 By Rt oRsra faciaeed | Yoo e, fa-iva s
ST TG 40 JICH (SIT AT FAR Geff SR T T2 (PIAS (ST (S5 (ST 9L
afoafro [ o1 T | SR PIRPIR (ISTK P A L PRISTE I3 7 Fres
I WG TR | TR fGAGK Q537 YIT0 TG FAAS TR P Ty (T3 TG
NIE G G R QUBIREGIGH

57) I AMRFO P! Ul PAD?

AT 2 ARACCT (HIG WRFD I A ¢ T \3 @I 7O - 9, »u: fewd Td | Seie Tddfod
SAPFI-R0%0 |

8) IDA TRfBH TG fAhd @0 SPIER ST T2

) SRRMmReT
2) SRy
)
)

—

3) W53
v 4) IILII 3 TF PISHA

AT 2 IDA SPTER BRID BAMIE PAT AT | IATS SRRMIZOT, W3, ©RErerdt,
FZOT | QROIISS (STRANO \3 SPISA- AP (1S TSI 3 |

59) ‘GG \3 I’ S YR ST IR fASTCER 51753 @1 3533 (W72

v 1) A¥E 53a
2) et 5@



3) OOR 54
4) 92109 539

T : fTSTCAR SR AT 53 (AP YT MO I TOOT \3 I N | AU 5
IR (A PICAT IS AT 1 I B I8 B2 AP Q7L AR 5D AT I
SRS 50O AR |

60) T *MICAQ T3 T 11 #1fia2d Faol 5[GE @R 21?
v 1)l

)

2) O
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)

A W

OJIPATH

AT = BTHF “MICR FHRET BIoR “AR72d SR @RI 27, B O GG P, IR “MICL To5s
P IR XN @1 A2 27 1|

61) Who is the followings wasn't a poet of Romantic Period?

1) John Keats

v 2) Jane Austen
3) Lord Byron
4) ST Coleridge

AN : Romantic Period U3 SR/ARRITETTR
Wordsworth

Lord Byron

S T Coleridge

P B Shelley

3% John Keats

Walter Scott

Jane Austen (Novelist)

62) “The Mistaken Husband” is written by-

1) John Milton

v 2) John Dryden
3) William Congreve
4) John Bunyan

AT : John Dryden
The Mistaken Husband is a Restoration comedy in the canon of John Dryden's
dramatic works, where it has constituted a long-standing authorship problem.



63) TIPRIH TS &2

) FCATTAAT

) oo

v 3) faorst
4) Rsvare

N —

AT : PIHPRICR AP FECTd! [ WSO fTo |

64) London town is found a living being in the works of-

1) Thomas Hardy
v 2) Charles Dickens
3) Congreve
4) D.H. Lawrence

AT : BT FEPAH o

The Pickwick Papers : The Posthumous Papers of the Pickwick Club (also
known as The Pickwick Papers) T2 Charles Dickens 13 23 G/ays|

Oliver Twist- [6/<a- Oliver Twist, Bill Sikes, Fagin]

Bleak House

Hard Times

A Christmas Carol

The Battle of Life

A Tale of Two Cities 5%@- Dr. Marlette, Sydney Carton, Jerry Cruncher, Lucie
Charles, Darnai, Madame defarge. So@TSb00 TG \3 2RI ¥R BT I TAZ |
G BT REd efFco a9
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66) IR J20H Idgi (@TA0?
v 1) 9O 5TATCE IS



2) SR
3) Y
INEGIT
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67) (STTETONE] Wl AR (T CPT (A2

v 1) 259

)
) ABATG
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)

N

fofeT
IR

3
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AT : AR Ao AR AT (ST |1 Q4T AT (O Wil X e - - - - -
TR TG (AP | W] I 2bTeT0 Biess AT | ff FTSTOR (tuber) T SPIRA K,
1 H1 s S | 93 Tt Bes B, QFRIT F=I00T, GIRTF (I ST 1o «ft 51=T [ieg
O 90T | B [T QI8 TS FAAT \3 FI5FT 31 I I Aff Rega ST o5 fero
TR TS TAOH | DTN ARSI TR ISP WK (@ 37 AT 2ranfod
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QI (R, G BT AU ISR (SR W ; BIHR IS GE3 FRIGIRPIE Ol Sy Ry
2O 210G | 4T, 5TH Q92 B8R 9F TSy 1 29K 5o 26 T |

68) Paradise Lost” is written in -

1) Lyrical Verse

2) Free Verse

3) Normal Verse
v 4) Blank Verse

T : Paradise Lost, epic poem in blank verse, one of the late works by John
Milton, originally issued in 10 books in 1667 and, with Books 7 and 10 each
split into two parts, published in 12 books in the second edition of 1674.

69) Fill in the gap with suitable 'adverb' : He runs quickly.

1) at

2) upon
v 3) very

4) Out

147 : Adverb a3 part of speech 1 adfb verb, adjective WK1 &d; W0 adverb
@ 391 R | Wi 9P adverb WG WP adverb @& modify IO 21K | R, ACITG



IS B3 TWocz | Adverb "quickly” @ TEST Adverb "very" IR ©I&E modify
ICCE | [AFEIE, very QST IRPY0R QY - (57 3 0 3T |

70) ITOIH AL Pl FMDI BI0l I PE?

1) SHTSIN FITCo ARG 20 (O I8 2480 I

2) TG R SIS BIETR 13 SATSN I7 2T FE?
v 3) ffacs faea Jfbce efio 20TR B

4) H10Y TS A AR PR

AN ; TR AXGISA HoF BI0! I IR NS e Fifbcs eNfis 28T oee |

1) T3 Q3R TATGFOIR TLT AT AT BRI @2
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v 2) faceren ayieaicster

3) W&
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o1 dl|
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(AP TABAE AAFPA

a8 adsRETRea o

72) facs= foca i fage aneg?

1T : foca @16 do o faos @z |

73) M1 PR (el did ST faifets 2z ?



I : 2T 5T CIIdT vk Y ffers xee

74) STPO\3WR WATHDL BT 77 2--

AT : A STPL\SWR @1 AP ARBTAA I O1F HEoT TP 6 \3WIH A |

75) (I AL A0 (IRRT?

AT &

TARSPOT AL ALTAO CIPTRS TT ARSI (AP 3B 27 | (T PTS PRACO (T Teed R,
TS 0 T 2rcTrst @ ©F I Bivw | AifETor RIS ORI B[ SN | @ddT (afod
IS IRF RFa 20 A1 d11 O @ T0 @R ARG X OR FeRdnd oo AP 21|
OZTGT, <Pl FARANLI A2 ST |

a3 (MRAINS \3 SPIE, QPTRI-AeT ITR () QTS B

AN = IR S WP A+0 =A , A1 =A, A+A' =1 -4 R5ald 5¥97| 171 Jfoxd
TN GNP (Basic) W4T 793 A.A'=1 STHRNMT @IcaT Ierrd =11y 91 Foshra 3|
AA'= 0 X[

77) @14 R4Te TS I3[ T FoW @ JMGaimod @) (Poet of Politics)o ¢a?

) T13E
) TARTD
)
)

N —

o O3
APAT TG AfA TP B3P

v 3
4



AT : wIRY CTY FOIR ITNAD IIGAIG I (Poet of Politics) T fafze-faoe
B3I |

78) 2020-303) WA IMCSCL PRUTO GHIPA AT Po?

1) Q,bo0 TG TP
2) br,¢00 1L TIPI
v 3) »,&00 I TP
4) v,800 I O

AT 1 100-30%D AR IS PRIUTO THIPI ARHIT 5,600 @D TIRAT | 5TG 1099-2030
WAER FRACE GBI AR el 5, w00 @1 TIAT | 5l WRRE ST SRS @6
[ 3>, »b2 1D TIRAT | U7 TS BT I DS, b GFID |

(33 : T Ra151 \SETI2D)

79) TR RfwIm 9e0--

AT : SR RFFIR AL TG Q8 RemR [RIFEIR 3E050aR 5129 06 |

80) IR TP 51T AT 357?

v 1)200 G
2) 03 G1.f
3) 20> GIf
4) 08 ./

AT ; AR JIRP 51G JRATD 200 1.7

81) S1AMFO dII LS SR (TN PO?

1) ¢ 924
2) Yo I%d
3) X0 I

v 4) ¢ I

AT 2 ST STROTGAIR LT HLHAL TP 0 T WIS I 2¢ I2K AT ACT | BT,
ST @™ e do I51 |



AT : WBGIOP 191 77T 215 2 16 TR b OIiRCY “1feTo 28 | ST Ry aikT @afo
AT ST KR A3 AT SRATord I AP |

83) TRITSIE SHPTH AOG @I TRBG
1) SRARTG

2) AP

3) fema =11
v 4) Sifazsie

AT : RS AT A IPT T (FREFCH @ WS forers’, 1, ARRsiq e
A3 Af50) AR GPTD RO WWARGD e, T IIRAHCR ITSHTAT TIRPTR SEP 50!
TRRITSI& XL A Piadsi@ QTR SRBO |

84) BTRC W3 &G 7o @Tab?

1) Bangladesh Telephone Regulatory Commission

v 2) Bangladesh Telecommunication Regulatory Commission
3) Bangladesh Telecom Regulatory Commission

4) Bangladesh Telephone and Regulatory Commission

AT ; IREACRT GFACTsIEnst fawger dher (RO 20 IREACeR QB T4 Phrq, T
IR GIATSIATST IR ST \3 fogr a3 Gt GR faer fafics are 36
A | A AT GIRTISTICTST TR, 200) (2005 KA Sbr d2 TW3A) T 5156 2|

85) TG I “RAGH” T T @I TS TRETHA Il FRCZA?
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—
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)
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)
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86) FHOI APP-

1 waﬁ

)
2)
v 3) \’BEHTJ‘
4) G

AT : I AP 27 [T DR (Nm) QI FFHOR QPP 37 316 (W) |

87) 'GIMITRIAN (T XA ST X2

1A : e - Rfet, eat, cmfaar
N - TRITH, FEA, AFG, B, TN, IS, AP |
Te5e OII-XIFT, T, ZRIR FTR

88) TG N TR BAFATCT AYT @ I 5T, IA?

AT 2 Sbbd S ORORI “IfePT TR K T 16 AL RO SATIOT AT e
JET 5T PR | A0 S5 “HIZRN IS IRBR AP AT TG DA | (70 X5 IREH
ARG TR #RPT oT6 FIBS | dbw | TOMIZ 2T A @IFA PR T T @FTF Ad0 NI W
ANHATIPIRICH [P0 2P0 |

89) AN AN (TSR AT SR AT I ORI F WA 2e7-

v 1) @R oR FeTd
2) ATSRANGP T
) AR FeTeard
4) TE5TS T

w

TN : AHPTSING ARSI (TR I 129 P AR G TS NAOH 37 (ANGPOR FAE |



90) Which sentence has ‘intransitive verb’?

v
2
3
4

Sit down here.

Sajid likes to draw a picture.
She reads the book.

He took shelter under a tree.

~— N N S

I : Intransitive verb is a verb having no object.
Ex: She reads.

Sit down here.

The birds are flying.

She is singing. etc

91) fA3 @A TSR tafoPol?

1) o1

2) 3PTed

3) 51907
v 4) TR

AT : AT W3 7, I RATOT Q@RI 7 | BT FeTo IF AP TGP (ARoPo |
TR ARG SIS IFRIFPIR! TG T2 TR I ¥ 5T G 5 | BCHS AT -
T QITR (KA \3 SPITSA (O 1) B

92) fiy SERio SRR ISR FeT (@TaTD BETE 50 P 71T 51f50?

AT ; BRI T4, WHGI , B AT 2GS fFIR T @ SATIR 56 2, Ol (Za1BP
ToOIPT ICET | 9D TS AF 9 SO (G0 T ATz 9[-0 20T ST TR @ B o)1
Y T A 38 (U) TRHRR DT | TR IT] P 38" WP SATRPINS I |
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NN = AREACCR 15T BGR ORIBO---- ARGHI, (TR \3 WIS | (SIS [RBTE
AR DR 76T QPRI TR0 \3 RRITAEIRE TR | 93 TS S &5 89 ISR wdo I5f
IR QTT TG PG | IRAOR <1F5d, TG, TR 27 TG I ORG | AR5 a2
CROGA AFHE ST | BB ARGED, TS, AT ISy | 2 AT, [ 1, e | o)
R ORO TGS TRITASIRR () S SIS IR | 7RFCT AR, IS | IR T
ST UK S 8, 38Y FRACEAITAGH TR 98 ¥ROT1RT (28%) GRCDGA I IR P & XTG1X]
TERITARIRR ST | AR OO AR S’ @bro ARG | IIRATCOTR TR I-9-1 TR SIS
AR TG e (HPODBER DA |

94) TSR 5L “PIFTL” (OIb 1P?

1) LT (FOH (S0
2) A (SIb

v 3) POIReIRR (o1t
4) A1 =16

MY ; FRRREE PFAHE (SIb A T Sl FRTS [adIRCR &) Storaio @ coib
AP | FIFHR (OI6 AT PPIEL CSID |

95) ST IREK BT RPIAD 2

1) 45
2)
/3)5@%«%
4) AT \3 YATHP TS {_CH
AT ¢ ST PR
(5) 51T I TS 5P BRI e pb R o3|
() STTET IFER PICAT ©F (3|
(«0) ST AFE I BT (AR
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96) SRICPHT @RI TGS 3f&d T ?

NG OEEES]
2) fecoe Bea

v 3) @pfos 3iéa
4) 1751 3

TN 2 (A6 E AP0 @I TR T ([piod XE @ fad XS0 (@ FomEiko 3@ |
CHIBACD 2ALTAG 723 SISt ©TsT A1 2 5. AfS @157 2. fOf57 o1 Irtevar sRes @R @apios
(AR |



97) This is the boy who did it. Here 'who did it' is a/an clause.

1
2
3

va

adjective
adverbial
relative

both of b and ¢

~— N N S

AT : @ sub-ordinate clause @A noun/pronoun 4 2A I P noun/pronoun &
modify ¥ BIF Adjective clause/Relative clause 311 Adjective clause SR713
noun/pronoun I3 7@ IGT| TR Noun clause 132 Adjective clause 1P3 4
linker/connective KT JF 2| “MYF X2 adjective clause I *[K antecedent AP
33 Noun clause I3 #(q antecedent VI d1| @F4- The news that gave me
yesterday is false. N.B. who 43% which 7RT1 518w clause G aft 3 (cause) 31 S
(purpose) AR O O adverbial clause 21 e.g. 1. My brother who is ill cannot
come. (who = because he) 2. | have bought a dog which would guard my
house at night. (which = in order that it)
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AT : SCEATPHLCAIT AT QB0 CO) ITRAP AT, TR T Sen PG GR-WRR, AT
\3 SYR QAR STRICT] AT (OIR PR | AP ST 2Afemam Biew Ay tofiia 5w affcsd
Y151 A | Sfew @ Tufb IR T2 THABE W 51267 I, O TFA a1 Sfdesed aonsiko |

99) TIRGSRCTI BTATCST SHAYT AT FHA 27 PO SEA?

AT : TRGHUER 2% (AP IR TR [T RSO AEATmar a2 THE So $ors
STTRIE SR SRS SRR ITSHTA! SDRCRICH SR FICER ¢ (AP YY Td TGS HIAd
AP T TR 2 | SRAATT BIEH AT ARI-RET TTEI 6P FweTaq Npfo
T |



100) He worked in the teeth of all dangers. The underlined phrase is-

1) adverb phrase

2) noun phrase

v 3) prepositional phrase
4) adjective phrase

IIT -

IR -
: © WA WIS in the teeth of WD prepositional phrase |

fg THIT @, IM in the teeth of all dangers WM ATGREAZA I AP© OIS 1fb
adverb phrase 20| 954 1ft how-43 61 )|

e, TSR G T I B BOK in the teeth of all dangers WG “M3A A0 |

f3g QU ©Y in the teeth of TGP WG I AMZ 3L AfS all danger- WXTR
SICY 2RI DX LG PCACE |

STO1R I I, prepositional phraseSET O object 3R APOACF adverbial phrase-
BRI ICTRIEH

101) ATSRARSP FeTRNER TG F1?

1) STEIGR OIS

)
2) tafod FeTwTd

v 3) Arexdfod g o 661
4) QLA THPTS

I : ATSXARGP STowl, RRIETK, e TieTol, SRR, AIieieror, foq Fore a1 3unit f&ee
ATOXAnsP 5120 (O 2 | IPIEEE (RAINS \3 SPITSTd- AP ST TSI 3 |

102) SR=7 ‘2’ Torsisf QI0sT (@ ST 2 O AT 972

v 1) e
2) faoy

3) IR

4) TRETSR

NN : A[, 2R 2GR 2010 TR T F< AT ROTT 2= AT e, BIP A1fR SFers
Sl

103) WO @19 ORI ATSHTA!?

v 1) CRAq



AT : (PO (TR ITSHTAT \3 ALTT X=J TR QAN AT 2009 HH TAFIRN D TF | CIRTAEH
TP @R TR IR QISR AP G Q7 TRENA | ¥RA GO SRR Q3R AT
FPEAHH T (TIPS (GAT O PECE IO AT XTH Q3L @ 57 Topq |

104) “I5RY 2OIK "letersrg” feicarea-

1A : JRGYCad O HRId- I 2 %Qﬁ | Q T ITS— ORI AT |

105) PH zeR [RBR 397?

1)
2)
3) o-

)

q->00
Y-

v 4)0->8

YT 2 TR BRI W0l 1 (1TeTpy e $<co Ikeo B0 (Fe1 261 pH Scale. 0o o (WP
58 <173 15T FI0T AT | FARCoPT 21435 227 a1 F1a35-9R 51 0 (A 18 178 [F© |

106) In simplex transmission

1) Data is sent in both direction simultaneously in a controlled way

2) Data can travel in two directions, but only one direction at one time
3) Data is sent in both directions is simultaneously

v 4) Data can travel in only one direction at all time

AT : 37802 (AT SIS BI6T (RS QPP 2A-T0 00 AT |

107) T3 (Ecology) U7 REE X0=-

1) STt wiw 39 faces

2) SHPH 132 AYANGP TRFR TR HBT

v 3) 1fsite’ ARERER 507 AfSETStar BomT faeeT
) G

4) TEHLATR 570



AT 2 CPIARSy T IR 267 ReIE QT XTAT, (T XTI G \3 GBIt AR g gse=ors
ACEHS 2|

108) 11, 15, 23, 39, ..... IR0 2IK<TO! 2% (@10 ?

1) 45
v?2)71
3) 55
4) 81

TN : {TRTO] O = 4, 8, 16, 32
11+4=15, 15+8=23, 23+16=39
SJOATE, 39 + 32 = 71

109) fae3 @1a IPIT @7 ?

1) ORK CISAroR W AL (iR
v 2) ORK GTS Wt S3isift (i
3) TR GISTas ity sjnsifo ¢z
4) TR GTSAraT] W sysift orafi

AT : TSP IPY - OR GO A S}A151T (i |
- GISATOT XD AT APV ©IE B |

- O3 3P A T0Z - GG |

Gied; (RO <m) . wrol, WETkieol, Re-a<eR |
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110) T-TTHAI5K \3 ATGAIHP FISISIRA T (T LA ORBTA?
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111) I count...... your help :



AT : count on U3 W 2 IIAT TR fTGPAe 2897 |

112) Dickens portrays the degradation and suffering of the poor in the
English workhouse. In which of the following novels does he do so?

vl
2
3
4

Oliver Twist

Little Dorrit

Great Expectations
David Copperfield

N— N N N

4 : Dickens intended Oliver Twist, first published in monthly instalments
between February 1837 and April 1839, to show the system's treatment of an
innocent child born and raised in the workhouse system, where no ‘fault’
could be ascribed to the child.

113) The Tower is written by

1
2
v 3
4

Wordsworth
T.S Eliot
Yeats

None

N— N N N

AT : The Tower is a book of poems by W. B. Yeats, published in 1928. The
Tower was Yeats's first major collection as Nobel Laureate after receiving the
Nobel Prize in 1923. It is considered to be one of the poet's most influential
volumes and was well received by the public.

114) At one point in “Mending Wall,” the speaker describes his neighbor as:

v 1) “an old-stone savage.”
2) “a tough old bird.”
3) “an ornamental frog.”
4) “a peg-legged manure man.”

A In the poem “Mending Wall,” the speaker reveals his neighbor’s
character as he contemplates the practice of wall-building. Here, the speaker
first describes his neighbor as he explains how they meet each spring to
repair the stone wall that extends between their properties. The speaker
includes that the men “keep the wall between” them as they walk along,
further highlighting how this wall separates the two men, both physically and
emotionally. In addition, each only picks up the stones “that have fallen to
each,” implying that neither man really wants to hear of the other’s troubles
or burdens.



115) In Journey to the Centre of the Earth, the trip begins via a volcano in
which country?

Iceland
Italy
Japan
Mexico

2
3
4

vvvv

4 : They find hidden within its pages a separate note which, when
translated into Latin and read backward, appears to be the Icelandic
alchemist Arne Saknussemm's record of a passage leading to the centre of
the Earth in a crater of Snaefell, a dormant volcano in Iceland.

116) SI&T feAforrs @1d Irak $IfG \3 F1RA! IfNE T ?

TN : (STRG AT <P BT BCER W SN [0S | FRERICR SRS O IrSTar e |

117) ol 5131 ARG 5T TRIGA (T SJeToTd FIo1d IR ?
v 1) SIS et
2) 3128 TR
3) PO fd TARIP
4) PRITSywd I

AT : ST i YETS DA S0 SIROL POANGD ST0RE BT IR |

118) s fetor @72

AT : 2008 SR 8 PFAN ARG 2 @I5HE | 71 TPRATST I ARTITOT | T eRT
SIPTATS (ST : 58 (F, Yobr8) ITTH AR PINETR (AR \3 S5 \STR (GG |



119) 1T 4171 Feo1 SRICPH @R @1 TIH0S ?

AT = GG FIDF AT YR SFE0T SKGE @ @ FOC0 XRoBT 80 GIsT (AP ¢o ©IsT iy I
AP OIP T M0 9 | A5 F1io< Ik /101 0T | A3 101 Sioemo] B | O3 - ST 41K
FEoT @R

120) He lost ----- few books he had. Choose the right option for the gap

v 1) the
2) a
3) some
4) one

anam : few, little,lot of , good deal, good many, great many 3o [ a 37| 58
Countable noun 13 CF@ g FRATF MO the I

121) PRF T FEIA T2 AZONT IR AN NPT -

AT : DR CTN FFORA I IO ALK RIS WP IR YU IR, YD T |

122)
ACTARRIR 2P TSI (PTA0?

T : TR (T - Malaysia) (OEIG A5y 132 f5dft o 2oe e sifds nipasR
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123) TP TFANET AU (ABTGCTI 62

AT : TP THAICER g GK ACE OISR T d THFAE AV I oAfs T \Bafreta

124) >R TP (I *MRICACO FT I IC?

AT : PRISAEDS P, 5T , FFT, I, WO , TP, IS XT3, IICHA - IR ST 23T
IR | ST 2R R (AT IR TG | (7967 F120T \3 SR 2AT5 97T - XN, AT, 57T,
IR, TYJ I57| (I MK TYH I TS AP IAPRI OF \3 IS oy
iAot SmRBE@R “fRET 2Mmea I
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TN : BRI KT TORTT DI @PES dbrvy FCE QI AT SIIN PAR FR AT B0
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126) ENVELOP: SURROUND

1) Efface: Confront
2) House: Dislodge
v 3) Loiter: Linger
)

4) Distend: Struggle



M : Enviop @3 Surround #R™1E 1@ < O & @1, (OAfdeI Loiter W3
Linger 773 ST <o o [eys 41|

127) He persists making a noise.

AT : [338 Persist in- WOETOIA BT TG |
He persists in making a noise. (1 (STETAIS BT QIO O6) |

128) MKS &Rt O 9PP
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) SIS
) TG

A W N
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OIF AT |

129) FrEYad WHTAACR 7T @IAT ArHIS 2?2

T 2 NPV GARIRAR TSI AT T H9ad T H RO IRATPT T [P 8.9
AT DT I9dT @1 QT T (SAIES WK WRETR AT RTG53 3 | ENI AR
7o) ard T2 "INSTRUMENT OF SURRENDER" |
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AT 2 1. “CART AP0 PP IR I T& PR STADL NP 5.2
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2. “TTHR G A AT AT PR A 5 Bfcqes o1k smafod 36919 5)/IR (.2
 TIETOTe HIRER [T TR SRR GYAY] [YH SHIR $ - ARow] |

3. “SENT ST TS SATH A3 STA1 KPR 3 s .2
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131) My younger brother is ------ university student

v1l)a
2) the
3) reading
4) an

IR = (Td word g A4d Vowel (a,e,i,0,u) YT an IV AHF8 an,ass,
an,enemy,an ugly,bird. 3 244d vowel 31 vowels Y 3 THRT You (38) T w
(\3T) QT HCOT XA a G|

132) 57215 J1iPd TRIR@IST @1 61 ‘i1 IRATG@RP’ (Currency Manipulator) R3@
QAT PEI?

AT 2 & TABFG, 205 A JEAIE W@ B T FRAMGRRL” (Currency
Manipulator) 5 et 3 | 53¢ “ifa<er RKiesnG |

133) fate3 @1d a4 6 ©7?

1
2
v 3
4

antidluvian
antideluvian
antediluvian
none

N— N N



AT 1 53F BB antediluvian WY FIATER “[REE | A5 S g I -
supersede, anniversary, assassination, alligator, humorous 395 |
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135) SITAGTOa! AR SR UFOT SRAUT STTRET 92 FCEH @1 OIRCY BTG
7?

5> ASH

53 TIRA

NG F@Cﬂﬁa

v

1)
2)
3)
4)©
AT+ AR SRR T SR BUTG 2 5 TERA YA | STTSrogr
AR SRR AT 3 FRCSTH IIREATPT A KA Wizd | aft aafo o7 7feret | ypaz
AR 851 @A TIRCY IR TSN ST 3 5T 5210 2 Q2 13 T HU3
fECTeR TRl IRATCOR Row MK 20 AT 70 «ft IR 201 Fe1 R4 3@ o
D0 2 UL I TR TR BT 2 | B3 A% 1T \3 3G T ©NR [Rard | O 321G
\3 IR T AT KT PTG 2 1A A9 AFHRAT X |

136) COIERA S THA GO, 5F6I S (G-
ﬁzﬁ

—

)

2) 1

v 3) 531
4) Cﬂaﬁcﬂﬁa



AT : GO CORER el 99 @1 5% COToT (Rl 3% (G 316 5701 &1 II9RG (S0l
SATSCAT R0

137) 3ol \3 SHRo7 PIw 6 sirorfae afodmd fie 2

T : WP SToToR aIPT 251 1500 B.C. (W 500 B.C. | Uit fod sracai@e svoror | oK

(T3] \3 (ATOR K2R S0 53 573 STOToR @1 SIacaT a1 | (3P J05T IS STROT K
TS ST \3 SRS ARoDTd SR B IS 1Y |

138) faeea 1 Ir0IfS Sd5?

T : (STIBT SCHP T ACAT- I S | T TSR SR 73 ATl 3IA GARET
(STIBT 07 TR X (ST ; (STT5T 73 PHAEH AT | [SUTTAS ORI P51 \3 1207 fEresrs)

139) TGS ST TRRT PTASKE?

AT : T, TS, T 2SR T X1 SRATEE TR ITS I AF (G132 SR ST
SIHA TR A (TFAS S M AR, QAR GG RN, QSR BB FAR @ AT FACS AT
BOIM | [OATT - IR SRR IR, FIH-PTH @]

140) ‘Rofs’ <@ RAIor <= @[t ?

TN : RS W - SIETeT, Irord, AT | A7 iAo @Y - 592331 1 51 e |



141) Black Sheep & 1 AR -

v 1)

2) YK F1GF
) BT
)

RIRIGE

A W

14T : Black Sheep - 357K Bad Man - ¥R17 9199 Bad Blood - SATEIfeld) [G3553d3
1T G \3 IR0 T rsTl, Mg CRK]

AT 2 R0 A AT W 6 21 fF omaw ¢sicg | 3116 8 T <12 #man Imfd | a1 IRt oy |
OUISEa3 AT SR \3 1R0) Rearstl, . GG CIK]

144) I SRR ST ARG 19 @ADL 2

1) PRI
v 2) 5diom
3) R Rl
)

4) < oy



AT 1 1926 f23 T 5N PR SCEINLGTRT ©R ODBL 513 59CR ©RT \3 GNK AT 516 7P
fHCT STRIN TR AU AFT FREAT @ G ST AT | (573 TGRS SR ST
PTG 573 FITOM' | AT O DG TG 18 2wy iy <1 w | Snqanfas 28T sess
*XTOTAIK HRATHTRN J1T SR 205 I6AR 53qNT0 2 | AT P (U AT XTOTAIR FLIRO! ST
AT @a CT-51IETd 2 1A AR ATH A0 [ded | RSP [ X RS [odd
ST ST STMASCET fcT ST S aTd (d " 2STK IR 1T I SR IO Q@ 5T
\3 (TR " |

145) OIER ADTOT @7?

AT = WO TS (T 11205 I6d1 BT | Rofd (7867 & ABR IR(2A | OR SRR O
St fetform FROZA T AT SRS T9d G ST PRCZ | AR A5 A ST Il SR
HOARSTSIRG' AICH | (BT A6 AT P (hodfaeT | SRGA RATe P GO Rorgo’ Kbl
IR P IRATS

146) TURSK G AR5 5Ra @15 ?

AT 2 FAATHE IR AN 2T 5RA 517 FASHISF | 517 FASHIRP I 0 TR A
AR5 57k@ | i T3 [Riera PR 2@l 5 S\3H1s1kd Rz \8 @=eT) AR eita Sy
HINTI I @ Tl 2RT0T (L |

147) 1T SRR A0 KO OURTA GRS Q@I ?

)
2) ooy
v 3) Alvoa oo
4) o3 o

I : IR G IHS ANEOCAR AU G157 IR AR GO’ | ST ORI DS
SRR TURT QAN PIATS PRATSH NGO 5ROTTS | BIP (5O SQIA! 05 PN
G IR I




148) FrEYafoGP dbP a7 QT ?

oSl
ol

AT : DI TR DS QI FHP IO P FoYaored BT | [OSIA3
ICREataiio]|

149) “WK Q ACIO IR I / @A AR AR 2/, @A AR SR TR ASTO ATRE
ST 1 S (Pd @ 10 a1 Sufsan 3t aner)” @3 @S $1- 751 2
1)51@3—@1151#
2) ST

)@ﬁﬂ@@?{
v 4) IAGAIY STPA

AT : PRO1T I SR LSO 250 PR SR TRIER oo s] ATEP PIROK QL
RC | [Ours3as A& IHIREN]

wW

150) PRI QP YYT APTRNG ATIPILA dT 572

AN = FIAET (AT APTRTG AT AHAPID AT 9T | T SUBT FN1r A3 a1 21
APIRG T YDV S [GATAS I GIET \3 F20] fECaTsi - GNfAa 14H]

151) SOCNN IRH S 13 CF 18 AR

I : MOCER TR SR 13 (T FIgE A2- 1t T TIRT @R BT | OR- WS B -
A3 BTRPT Oz, W1 OIAC e IIeTT A [O353a8 18T Tl \3 1207 fSes T - Giifeg
]



152) (ATOIEA @G G DS a3 facsa @1af?

v 1) G To-p
2) 512 o1 1P
3) Z 53 5T TeTR
4) STSJOR PO

AT 2 CTOTRR @I BTN A 27T 5198 Y FG-PUT (dde), FoFoT, \3 332 3071 | e
1T ©IET \3 S0 fOes -, GNfaa e |

153) IRCPRICK AT IIAIF PTG ?

T : Rz [etrof (@ft Ok arE PRysg §ePmTd (SRS A1 Ao OoRl Ia e 7o),
I P (FILTANDS Ko ARG AP0 DTRAT PIKT) O PRI L0 T @I, (AT
1N, Cors AR, P57 PTad, SRPAET, PR 7=, W 41, TINTH [OU55as I Ol \3
20T FGeT>T - Gnfea =]

154) Karim loves himself a lot. I 5 pronoun @TAL?

1) karim
2) love

v 3) himself
4) a

T - Himself 1 Reflexive Pronoun . Himself, myself, herself, themselves,
etc. are the examples of reflexive pronouns.

155) What is the singular form of 'dice'?

1) dis

2) dise

3) disket
v 4) die

AT : STYRTO dice 93 singular \8 plural U3 2| ©X #™R ©fb @ dice 93 plural
die Source: Master Guide



156) The man persisted -- doing hard work.

157) He is an heir ---------- the throne.

AT : Heir to (sth) - 571fS, 51amstax Sefapid |

158) Choose the correct sentence-

1) He went there walking on foot
2) He succeeded at winning the prize
v 3) You are a pride of Bangladesh
4) He has assured me for safety

4 : Correct sentences- He went there on foot. He succeeded in winning the
prize. He has assured me of safety.

159) Choose the correct sentence.

1) The boy was short who snatched my hand bag
2) The boy snatched my hand bag who was short
v 3) The boy who snatched my hand bag was short
4) The boy was short who was snatching my hand bag.

YT : TFITOT JTTO Relative pronoun @3 antecedent SR IGTIAntecedent
RGP T Relative pronoun 201 SRTS who IG719E who a1 4 that &
IR AT IR |(source: Master book)

160) Sweet ---- the uses of adversity.

1)is
v 2) are
3) has



4) have

AN : Noun,pronoun O[T, Noun equivalent @1 733 @34 IR subject T©
& | B13 Adjective FAEIR IR subject W 11 IR SFCO adjective APE Here/
There 7 [RIEIGHIR FC0 I | Adjective+singular verb+sigular subject; Adjective
+ plural verb+ plural subject.

161) “NfIBAR AT IR A1 T —ARBITO ool IR 2

T 2 - O] WA AU S5O T TSR BT S84 HEK ¢ GRHI Ol
AT AU #[fBBT oN1FBIER BT AT a1 ©F' APTRTG |

3 3R faad T @ focea,

- IS (FTOIRK @RI

- TITRP TRE PICTH Q3%

- OIS JA5K ARAR |

- BT ST IEA TP AR IO |

- 3 S[BIT IRAT ST < IR PR QTH@ T, WP \3 AMIACOL ORI U3
HTPBICAR T ORI FIR AR O 471 |

(T3 ARETHRG)

—e

162) IRECPT GO TAR TAT P 2 PO 5HA?

1) 5984 43
2) Ypeb Y3
v 3) Ypu8 Y3
4) Youe 8

AT 2 AR (GRS TAR TraT BF 3T dv8 38

163) FFEYa M TR (@19 JEAPR TRIEO?
v 1) CISTIST6T
) 4TAAG
) HSRITGIA
EGIGI

N

3

N

AT : Yo TMEL TIORK ISRTHBHR TRFG |



164) V0 IR 80-AF FYD! JATH \3 FHOH (HIETP 5T {04 IR $9? [BSCIC 7 oo
WGHI 03]

NN —

v

w
DL ¥V & ~

)
)
)
)

N

AT 1 V0 IR 80 I YO FHOH CHITCTP AT O IR JIGH TP HA 04 |
<. RN A0 IRYTA = 0Q - 0 = Y

165) TM (O T €% = 2T O (HE KR <TOPAT 0 PHICE (O I-% I = AT 12
[OVTH ; QOTH RIfFHIST ; BT 3 ARIR PAT FFNHIT PIAGIAND @ PR (ATGIRGIF 2055 ;
RIS ST ST2PTN (HBA DA G 2059 ; TTORT fA-T1GT (SCTHT 51 FT (NSI)-97
P ARBIRP 3 PG QP 2054 |

1) Y9%
v 2)30%
3) :¢%
4) 8%
I -
2% JMRACE (ST FeTs 2 D¢ TIT
53¢ DT FHCG AJ ¢ T
500 " " " ({QX)OO)/3{Q = {OW

166) 5log3 - log 9 = 99?
1) log 8
v 2) log 27
3)log 5
4) log 9

T : 5log3 - log 9

=5log3 - log 32
=5log3 - 2 log 3
=3log 3

=log33

=log27



167) XT3 280 TR OB IeTd et | 71 T P Brer apfo Ters @1 (vt o1 afsfo
I TTH 510G S BIPT I FROCOT | (F PO FeTd [ PaeA?

1) Y
2) >4
v 3)>3¢
4) St

A = AT 1R, <72 X[ vt fRpcamnet
2PIHCO,

(X80 - X) - 80/(x+1) =>

= (RBOX+380-380X)/X(X+1) =>

= X% + x-380=0

= X2 +5YX - YCX - B0 =0

= X(X 4+ DY) - ¢ (X + dY) =0

= (X + YY) (x->¢) =0

SX = 5C [ NP HT SIRTST ]
Tfie ¥Mfad S¢fo Tera Reafes |

168) BAT, EAT, HAT, 7, ....

1) CAT
2) IAT
v 3) KAT
4) JAT

I : A 93 T U @14 SRRAGI TR 11 B, E, H 3 HIR! 70T IR TP I GI\3TT ACZ | O13 H
QT #[ |, | I T K 91 | O3 <10 X3 KAT |

169) Of the five words below, four are similar in a certain way. Which is the
one not like these four?

1) smuggle
2) bribe
3) steal

v 4) sell

AT : Good (SI), large (I22), red (F1ET) \3 thick (Td 3T 9F)— QTR AT 02
adjective (ReTad #m) T @iar GG A1 381 @RS [0t 9@ | werfee, walk (201) T2
verb (lFFg1om) T1 3R ITS I ARIY |



170) Choose the correct sentene: Rakib is----- finest young player now

1
v 2
3
4

)a
) the
) an
) none of these

1A : Adjective 93 Superlative degree U3 “[ the G|

171) ADMINISTRATION > 7RI SR (TAD 510 T TR 12

1
2
v 3
4

STATION
TRADITION
MINISTER

)
)
)
)
1T : ADMINISTRATION =5 &1 E (31 012 fbart MINISTER *Rifb s19d 1 Il

172) 2iAfae Rrst Qe[ g41d SEPOR 2 67

AN : G4 STTersmoar AT SRPIRA ARSD FIMARH S FRIF IR o151 I AfeT |
WIASRL AT T FARBTP | AT Rre TSR 294 FHPOR “Mi ToTRPer3
TARETEP |

eI TR <1 T WL FRSING FFT, ARG, I TRGF (L |

173) I I29 °R 9[22 I2E PNEAGK Q3 I ey & 2972

—_
(V4
(]

N
v

°g

wW
174

)
)
)
)

(94

v >

N

TN ;ARG 5 IBF 27 217 PICETGIRL ARG T | AR 5D IBH 91 AU IR PICETGH O
3 IR A OF | PRI QT @1 S 5D I8 {3 (1 TR @ S I2:@1 7y 0 7 791 39 i |
QT 2fS I3 > d T O 72 5 Fd \3 0 q 791 3 Ty Tt © fd 512 @16 214 71
55+0= 58 fid 1 a4 ey oSy | IR B O I27 2] 91K WL AP 3 DTSR |




174) CTCTIQS 7 @1 ?

v 1) @S
2) Ricoa
3) QTSR
4) TS

AT 1 CTACS B ORITY BT SRS QFT0 B | D8 T, dwbr¢ S AN CTASA
XXR fAP5ID! 2RI WLAGE TR i 515w IR Sfer Jyy aftd Arsd w1 xafe
afd Yone I IIRLDT 3 | A7 T OGS 3BEIR AT OF | dowo-4a AF6e Greifa,
D15, @REHTGS, @ETGT \3 SRFAICH ATBT0 00T FHP APFRO AP0 [ Ansory S|
TRISTE TOICAT 2 A& TR 91 3L 2GS @TSHIA B | IOFNE 3SEICIR Wi 77 a3
OEATPTGG | [R5, RIS, IS TR, QTR GFICRRT Q3R STRATS O7 TBeS o | (SUT5Id-
BORTTR 3BT \3IIRD)

175) 180K W7 RAM %2/ RAM in computer stands for

1) Readily avilable memory
v 2) Random access memory

3) Read access memory

4) Reading access memory

SRV :W@ﬂ@?{(ﬂtﬁﬁ@i@ﬁﬁ : Random access memory), 3IRCFA 1 (RAM) 257
QP GRCR PNBOIRA BTG (BIDT) FRPFR FKTH AT (U @A (@1 FCH GG "SI AT
TR, Q PRCB I ATGH T G I | [OATTA-5UF \3 QSIS 2 G, AFTeT- 7T,
CTLP . AP FOA I, FNFAT : 2022]

176) 128 + 64 + 32 + ........ YR (T 2% 1/272

1)5
2)7
v 3)9
4) None of them

I &

AMCda =128, r = 64/128 = 1/2
4fd, n OF oM =1/2

AIHA9,
ar"l =1/2
T, 128x(1/2)"1 = 172



a, (1/2)"1 = 1/256
a1, (12)01 = (1/2)8
d,n-1 =8
~n=9

177) T/ ERI3 G610 I 200¢ FER 2) TOR 2 WP &1 aftcs i bR Ikzo
2T | fIB @1 IGAT ST T SR IR 53 =1 2

1) ferfms A1 SYEma @RIEA GRb IR0
2) ferfTs FIBTRY Colk TACE 200¢ SR 2K

v 3) TYFIT R00¢ HER S (O GRS GG AT IM0HT IR0
4) SYHTT 200¢ TR I (SR RIBS GG AT B RO A1

AT : S0P B 51| AT BRI RO 231 SF TACT. 200¢ FER 27 (AP |
[O753as 1]

178) The passive form of ‘Who broke the glass?' is-

1) The glass was broken by whom?

2) Who was the person that broke the glass
3) By who the glass was broken?

v 4) By whom was the glass broken?

T4 : T active voice WF subject Who T ©F 20 O passive IR 580 by whom
T ©F 2T W3R tense WGIRN auxiliary verb I671 3 interrogative GUI! AT WX T
20| @], By whom + Auxiliary (Tense Q@) + sub + Vpp.

179) O3 piE Ar$iio 20 $© SE?

1) Y33t
2) Y»8¢
3) Ypu3
)

v 4) 55

AT = b T, 5O PIGH ST Sl 32 R Ife= sedy "ersiiz §ie s 21 [543
CEEa e

180) FIABANG (Td A BIH TRIED ?
v 1) FACORT

2) sl

3) T



4) Fd*1

AT : TAETFSTG ISTT (AP DO AANACR TGE IQTI-51T RPIFTTGR 10T TRIFS | AT
PACORI FTR QPTT SFITRPT AT AR | [OAT53a 8 CHieip A7 |

181) (T RIq THRCR T PP BIMGO IO @RE QS FARRE @AM J14T <17 1,
BICRE I -

AT : (T K SHRCR T PPN OG0 ITOT @R Q0O FURRE @IS J14T 21 7T,
BICRCE I 2 WK | @Fd- &, 0,3, 5,8 307

182) 9IRS BT MR R IR SO 277?

1) TS O3, dwA
v 2) TGTA R, Yona

3) FBGTR Yy, danA

4) TOGTR :¢, Y4

T = OMROS 5T *MEL e B SFeone 20 FoTea 2, YA

183) Y»bra I IFFRO JHe ACRRER KT 2 -

A : RERE ARG 57 | I00e [ 91 AT A0e A AR 07 \3STd 39 51
FIR O QBT WBGOP §IE | \3CHF B T FIR S Hdbrq HIER S GG AR RO
0 T B, Q3R Sobrd FER S TR (A QD ITIFI 2| Q218 T 5 ¢ IR FeMed
| [our55as UNEP]

184) TGS TR OMNGTO AR SPIHAR T \3 STy 21



AT 1 Sbro -9 PIF [T Sageriet et Ko I FAR-52-1E G [Rifeg aritafes
HRE IFH OF IR | Q0 P T TAARGD BAER AP S-S g st
BB TG | ATOT RER 2RTECT BHO FeTsh TR BIPERI TGS Al 5T
FAE\3 O FIII (TFd Tt faPes FI00 *MET | Q PF1oE RIINET SPTHAE AT TOF
IA | SROHAT WGHO TG SPIHARL TP \3 BT LT '@ ANTOR BFI |
SRS SPIA bfD ST SE FRZ | (OW5A- (KA \3 SIS STE- AT \3 7T
cafd)

185) APTd TALTHPI TP FENKAT T ?

1) QMG AT
2) fadT

) QAP

) RIS 0T

AT : APTd GALPTHD (@ GAPAT A PAT FIAT 103 2 |

v

W

186) T2 \3 TARMZOT fAFEGPRT @Taibd [Res @3 2

v 1) O AR B

) SIS WRd

3) <R AT T S 7T faediiie
4) ATOT SRETISR ST

N

AT : O ARGPR TR O WP QB FRTG TSR O HNITR FAAOT P TS T2
T ZiRIPT | U I ST O | THFANE W 4RE- TR SAIPO Aid J1cd siikfew | g g
GO« AR PRI 2 G 40T WiRd | 21 GU55Ea Sl I @, §_0A- aied [ifed
RIS #{fA 20fb T ABETD | Yawy ST A FPOBIE 1 RTR TR 2IR60 27 T
SRIMAAR WANTOT WzA I Do | [FUrsas wifa «ifaT |

AT : SRS AICET, FPRICET \3 SIRGH P (36 | NATO (North Atlantic Treaty
Organization) 2f5f5o 20 8 W Y585 ST | AT IGHF 5T 78 QEATSICER I |
dRPDT \3 SPOT ARefer A1irey pie | NAFTA- North American Free Trade Agreement)
Ao 20 >4 FBGTR dar 1 [Source - NATO & NAFTA Official Website]



I : Sentence is in past tense. perfect participle is used after was/were.
Hence, eaten is correct.

189) #{IAF BT AMPPH Ao -

N —

v

A W

)

)

) AR
) TS

AT ; AR O AP AL Tl e

190) What type of phrase is the following highlighted words? Oh dear me!

1) Adverbial phrase

v 2) Interjectional phrase
3) Prepositional phrase

4) Exclamatory Phrase

I : Interjectional phrase AKTO Interjection U7 1% I QR Interjectional
phrase GdK B9 %2 interjectional phrase 13 ¥ Note of exclamation (!) V|

191) §AK GYAR ‘TGS 2B’ @1 IR 64T ?

) (MR
) SIS
)
)

—
m

N

ol

AP

v

w

N
3|

AN : f OR A3F A5 (Fferp FROIRP A6 | AT TORI AL (SAYD) Todl TR
Rod OFRITE MR A A6 PIRAT 5139 IFEF PRIPRICH HPEI' (AP | DTS
fEGTs, G TR

192) IATATY STHRL WGLATPS 575 (BT ?
1) QMg



2) AN
v 3) O o
4) FRRGAT

AN = FARNGAT - STTEST AP 5781 | FBANG - AN STHGP ST | FIFOAIT - TROARPS 575 |
PTG - T CHFRTID 575 |

193) Hill : Mountain -

1
2
3
v 4

) Grass : Rocks

) Autumn : Winter

) Creek : River

) Star : Sun

AT : Hill 5% *M2H, Mountiain *&G | 7303 IR @FREISTS ST 302 | Star X% ORI, Sun
57| 203 TR ERRTSO e A, IR SOk 754 | A Creek H1d 2002, ARG 1 AT,
river S X® dil | Grass Td 15 \3 ROck #1[7 | T QG WA [Rodro

194) DIRT (WP AP X5 A JIREAT HIMG @A) ?

HAAM
v
3
4

QMMGPA PI5TS

1)
2) ORI
)
) AGETP

AT : GIRPTAPPT IREACIR TIPT ¥R AU 1T SRIMAG T1 I1RAT 01 ¢ P, Hv4 (F16
q, Strvd) AV PTG 2 | [GATFAS AP LAY DT AP |

195) “(OTAR 3184 1Y @CYR ARITIR’ - INAAH T PIIK P01 2
9@%1

4

o

1)

2) CRCT

3) QR efﬁ“rvf
) TGO

TR : PRSP IAAAY SRR 'O K A RO WEso WA WP ORI R
IRJ (AT TFO AT | IR @TEAPTO! AR (SIGIHAIPICD Y98 SR 00 TED (58 X
>08b) FRIGIT AT I | G338 ot cnfa e

196) Sfos1RT X3 IR 21 513w -

v 1) %8
2) Y85



3) >3V
4) YHQY

AT : SO XMETP! IMRAR PR SF D28 HIEH G FICH RpIeTRAd T1 QUd\3 5T
JRICR |

197) fae3 @1A0 F16T FRBMR W3 GRT T2

T : FTOT FRGTL © (R GRIT 2T I | TAT3 TRIPTICHISTS G, ATTHARSGP G,
TP D \SWIRRSGP T ([OA5A8 OF \3 CISTICTTST 2R (9T - e f)

198) @ SQL ok 3@ ?

1) Bjarne stroustup
2) Adam Smith

v 3) San Jose Research Centre
4) Dennis Ritphie

AN : H»98 FE SQL WRRWF-a3 San Jose Research Center o F41 1 SQL (THT
CORPCPTT \3 COTT FITAo)ePTd eI e ek f[ifss RDBMS (@&d- DB2, SQL/DS

ORACLE, INGRES, FOXPRO 3wft) 1 3= 28| Tuple Calculas 93 &R/ fSfs 3@ SQL
TR T TG | [SAIAS T TIR A1I-0.¢ (JCIR), T \3 QISTCTT 2, AP \3 7T Q]

199) ST GGG 26w Reyes 20T 578 B HAT-



JITYIT 2 SWEOAO] BT (157 ARSRTY T WS |

TR IR G TR RIFT fd 11 [FFRasT acsy \SaRsiks a3 fics oAt F=ds live.hellobcs.com
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live.hellobcs.com

